CAMDEN

Highgate Road 6inarow
NWS 1PB WRONG H-1664mm

W-6235mm




CAMDEN

Highgate Road 6inarow
NWS5 1PB H-1664mm
W-6235mm




—=—1016mm— mm————1016mm— ——1018mm—=——1016mm—

N

N
/3 W

_
_

7N

N

7N

»
N
S &
%
b 5 1S

o

i 5

/.

%
_
k

_




6 in a row (6x60x40) Build & Installation Specification

2" x 4" Uprights Fixed into the wall,
using M12 Threaded rods, 2 per upright.
Chem. Fixed 100mm deep

and with a washer and nut.

3" x 2" Horrizontal rails will be
screwed to the uprights, using
6 x 100mm Wood Screws

The 9mm W.B.P Ply will be secured

to the horrizontal rails using 6 x 75mm
Wood Screws, along the rails.

9 Screws will be used to secure each panel



6 in a row (6x60x40) Build & Installation Specification

Frame moldings 70 x 20mm 5th grade

Red Wood will be secured using 6 x 75mm
screws, these will be countersunk in & then

filled with Ronseal High Performance Wood Filler

Parts List
Description
0 | Eased Edge Treated Timber 47 x 100mm (4" x 2")

0 | Eased Edge Treated Timber 47 x 75mm (3" x 2"0)

0 | 9mm WBP Ply

0 | Red Wood [5th Grade TPlained Cll Round (775 x 25mm
0 | M12 SIS Threaded Rod, securing Verticals to the wall

0 | M12 S[S Washers
0

0

0

0

0

T
g
3
g
2

M12 SS Nuts
6 x 100mm Wood Screws, securing Horilontal rails

olo(vlo|o|slwn]|s

6 x 75mm Wood Screws, securing Ply to the rails

6 x 75mm Wood Screws, securing Red Wood moldings

S22 [R|e|e|e|o|o|o|s|g

=|a

Ronseal High Performance Wood Filler










